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tiandgq
ril e

NN Z

1l wwP
L1z

& AG

v KQ82

¢ QJ3

& AT94
*eVaAN

INS: #5525 SREE(EO) -6 8 NS: Bi#LX SEHE(IC) -29 VP:| 16.39 : 3.61 | Total VP: 96.79 Rank:
EW B TE gﬁlﬁ[ﬂ(ﬁﬁ@ 29 EW: BRE2HE 5R{"15(F90) 6 IMP:| 43 21 4
N
s 765 3NE-2 100 Mean: 3NE2 100 3.0 1 |[|# 22 a 973 6NE6 -1440 Mean: 4SW7 710 10.0 1
v KQT763 1NE3 -150 0 3CXE-1 100 3.0 1 v 8543 6NE6 -1440 -1140 4HE6 680 100 1
» AJT4 Dif: 250 NS:3 2HN2 10 3.0 2 ¢ 732 Dif: 0 NS:-7 3NW6 690 100 2
ry IMP: 6 EW:4 3NE-1 50 20 2 a 876 IMP: 0 EW:7 A 00 2
& AK4 1NE-1 50 20 1||a AQ842 # K5 6SW6 1430 7.0 1
v AJ5 A 00 2||w9 —_ v KQJT2 6NW6 1440 7.0 1
| ¢ K6 2HN-1 4100 -3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
& K9763 1NE3 150 4.0 1 ||& AJTO & K4
» QJT8 3NE3 400 9.0 1 eV BN o JT6
v N ~~~~~ v A76
¢ 9752 S ~~~~~ ¢ J854
& QJ52 E 6~~66 &Q52
W 6~~66
» AJB3 1NS2 120 Mean: 3NS4 630 9.0 1 ||# 24 # AT953 3HW3 -140 Mean: 4SS4 420 50 1
v J62 3NS4630 220 3NS3 600 9.0 2 v?2 5HXW-2 300 230 4SN4 420 50 3
¢ T52 Dif: -510 Ns:-3 A 00 2 ¢ Q86 Dif: -440 NS:-9 5HXW-2 300 20 3
& Q62 IMP: -11 EW:9 2NS4 180 1.0 1 » K853 IMP: -10 EW:-2 A 0.0 2
K542 2NS3 150 20 1 ||aKJ a2 4HW-1 50 50 1
+ v Q7 1NS2 120 3.0 2 ||e AK98754 v Q 5SXN-1  -100 -8.0 1
¢ J97 1NS1 0 40 1|]|e2 ¢ AT9754 3HW3 140 9.0 1
S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
s 97 e VABN 4, Q8764
v AK85 N ~~~31 «JT63
+ KQ6 S ~~~31 ¢KJ3
& KJ87 E 213~~ aA
W 213~~
a K 3NS-2-100 Mean: 3NS4 430 9.0 2 ||# 26 » 65 3NN-1-100 Mean: 3NS3 600 110 1
v 876 3NS-3-150 60  3DS4 130 20 1 v AKQ42 2HN-1-100 40  3NN3 600 11.0 1
¢ JT53 Dif: 50 NS:-4 2NS2 1200 20 1 * K2 Dif: 0 NS:-4 2HN2 10 20 1
£ KQ853 IMP:2 EwW:5 A 00 2 & AK94 IMP:0 EW:4 A 00 2
a 875 3NS-1 50 3.0 4 ||a AK97 » J832 3NN-1 100 40 1
v KJT432 3NS-2 100 -40 1 ||le8 + v JT973 3HN-1 100 40 1
¢ 2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& T94 & Q63 a7 2HN-1 100 -40 3
» AT43 B eVABN Ao QT4 3HN-3 300 -8.0 1
v AQ9 N 3~1~3 65
» A876 S 3~1~3 ¢Q5
& J6 E ~2~3~ aJT852
W ~2~3~
» K92 3NS3 400 Mean: 3NS4 430 40 1 ||# 28 » T98762 2SN3 140 Mean: 4DXE-3 500 9.0 1
v 96 3NN-1-50 300 3NS3 400 30 6 v K98 INW-150 80  3HW-3 150 20 1
¢ Q7 Dif: 450 NS:3 A 00 2 T Dif: 90 NS:2 2SN3 140 20 1
& KT5432 IMP: 10 EW:8 3CN4 130 50 2 a A82 IMP: 3 EW:1  2SN2 10 10 3
& AT8 3NN-1 50 80 1 ||a A3 & KQJ4 2NS2 120 10 1
v KQ75 v 75432 I v JT A 00 2
+ 9632 * K2 + Q87654 1NW-1 50 1.0 1
» A8 & QJ43 a9 5CXS-1 200 -7.0 1
» QJ43 FOVABN A5 3NS-2 200 7.0 1
v AJ42 N 4 ~~22 « AQ6
* A5 S 4~~22 ¢AJ93
& QJ7 E ~1~~~ a&KT765
W ~1~~~
a T542 3NW5 -660 Mean: 3NW5 660 40 5 ||# 30 » AKT 6CS6 920 Mean: 6CS6 920 9.0 2
v AJO764 6CE6 -1370 -790 3NW4 630 40 1 v AK 3NN6490 500 A 00 2
*2 Dif: 710 NS:4 3NE5 660 4.0 2 ¢ AK75 Dif: 430 NS:9 3NN6 490 0.0 5
& J5 IMP: 12 EW:11 A 00 2 a J974 IMP: 10 EW:0 3NN4 430 20 1
N » J97 6CE6 41370 -11.0 2 ||a QJ95432 » 87 5DS5 400 3.0 1
v3 v 863 v QJ92 6NN-2 100 120 1
+ + AK84 + Q86 ¢ T43
& KQ732 & Q865
» KQ83 SOV ABN 46
vT5 N 76 ~~6 o T754
¢ TI9765 S 76 ~~6 ¢J92
& 86 E ~~~~~ & AKT32
W ~~~~~
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AVA
#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
2 NS: BEE 2= E#®H EF0) -25 4 NS: "5 #II#¥(BAC) 0 VP:| 4.03 15.97| Total VP: 83.71 Rank:
EW iie=AiA gﬂ%#(EﬁC) 0 EW: {REE1E &£ ZH(F0) 25 IMP:| 17 37 7
I
# 21 Iy 765 3NE3 -400 Mean: 3NE-2 100 3.0 1 [[|# 22 a 973 6NW6 -1440 Mean: 4SW7 710 10.0 1
v KQT763 2HN-1-100 © 3CXE-1 100 3.0 1 v 8543 6SW6 -1430 -1140 4HE6 680 10.0 1
* AJT4 Dif: -300 NS:-9 2HN2 110 3.0 2 ¢ 732 Dif: -10 NS:-7 3NW6 690 10.0 2
ry IMP: -7 EW:3 3NE-1 50 20 2 » 876 IMP: 0 EW:7 A 00 2
#» 932 & AK4 1NE-1 50 20 1 ||s AQ842 # K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2(|e9 —_— v KQJT2 6NW6 1440 7.0 1
¢ Q83 | + K6 2HN-1 100 3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 150 4.0 1 ||# AJTO » K4
F VAN ,QJT8 3NE3 400 9.0 1 F eV BN ,JT6
N ~21~~w N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ ¢ J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 » AJB3 1NS190 Mean: 3NS4 630 9.0 1 [|# 24 » AT953 5SXN-1-100 Mean: 4SS4 420 50 1
v J62 2NS3 150 220  3NS3 600 9.0 2 v?2 4SN4 420 230 4SN4 420 50 3
¢ T52 Dif: -60 NS:-4 A 00 2 + Q86 Dif: -520 NS:-8 5HXW-2 300 20 3
& Q62 IMP: -2 EW:2 2NS4 180 1.0 1 » K853 IMP: -11 EW:-5 A 00 2
» QT6 & K542 2NS3 150 20 1 ||aKJ a2 4HW-1 50 50 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
¢ A843 ¢ J97 1NS1 90 40 1||e2 ¢ AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~3~ 3 vAK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ3
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K 3NS-1-50 Mean: 3NS4 430 9.0 2 ||# 26 # 65 3HN-1-100 Mean: 3NS3 600 11.0 1
v 876 3DS4130 60  3DS4 130 2.0 1 v AKQ42 3HN-3-300 40  3NN3 600 11.0 1
¢ JT53 Dif: -180 NS:-3 2NS2 120 20 1 * K2 Dif: 200 NS:-4 2HN2 110 20 1
£ KQ853 IMP: -5 EwW:-2 A 00 2 & AK94 IMP: 5 EW:8 A 00 2
& QJ962 & 875 3NS-1 50 3.0 4 ||e AK97 # J832 3NN-1 100 40 1
v5 v KJT432 3NS-2 100 40 1||e8 _|_ v JT973 3HN-1 100 40 1
+ KQ94 *2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
e VAN ,AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q5
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3~
# 27 » K92 3NS4 430 Mean: 3NS4 430 40 1 ||# 28 » T98762 3NS-2-200 Mean: 4DXE-3 500 9.0 1
v 96 3NS3 400 300 3NS3 400 30 6 v K98 4DXE-3500 80  3HW-3 150 2.0 1
¢ Q7 Dif: 30 NS:4 A 00 2 T Dif: -700 NS:-7 2SN3 140 20 1
& KT5432 IMP: 1 EW:-3 3CN4 130 50 2 » AB2 IMP: -12 EW:-9 2SN2 110 1.0 3
# 765 s AT8 3NN-1 50 80 1 [|a A3 » KQJ4 2NS2 120 1.0 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 d VAN 45 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4~~22 ¢ AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ a&KT765
~1~~~ W ~1~~-~
# 29 » T542 3NW5 -660 Mean: 3NW5 660 40 5 ||# 30 » AKT 6CS6 920 Mean: 6CS6 920 9.0 2
v AJ9764 3NW5 -660 -790  3NW4 630 40 1 v AK 5DS5400 500 A 00 2
02 Dif: 0 NS:4 3NE5 660 4.0 2 + AK75 Dif: 520 NS:9 3NN6 490 0.0 5
& J5 IMP: 0 EW:-4 A 00 2 & J974 IMP: 11 EW:3 3NN4 430 20 1
» A6 N s J97 6CE6 1370 -11.0 2 || QJ95432 # 87 5DS5 400 3.0 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 o T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ ¢T5 N 76~~6 »T754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 486 E ~~~~~ & AKT32
63~~4 W o~~~ ~~
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9 1102 F < >2RpERFIRE ==> RY 9
AVA
#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
3 NS: fR{EH FEBEIO) 22 6 NS: 5k ERILE5(BAC) 30 VP:| 6.28 13.72| Total VP: 113.63 Rank:
EW: ZEREIR BKERC) -30 EW: iti&% #IE3R(AO) -2 IMP:| 19 30 1
__ I -
# 21 s 765 2HN2 110 Mean: 3NE-2 100 3.0 1 [[|# 22 a 973 4SW7 -710 Mean: 4SW7 710 10.0 1
v KQT763 2HN2110 o© 3CXE-1 100 3.0 1 v 8543 4HEG6 -680 -1140 4HE6 680 10.0 1
* AJT4 Dif: 0 NS:3 2HN2 110 3.0 2 ¢ 732 Dif: -30 NS:10 3NW6 690 10.0 2
ry IMP: 0 EW:-3 3NE-1 50 20 2 » 876 IMP: -1 EW:-10 A 00 2
#» 932 & AK4 1NE-1 50 20 1 ||s AQ842 » K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2(|e9 —_— v KQJT2 6NW6 1440 7.0 1
¢ Q83 | + K6 2HN-1 100 3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 150 4.0 1 ||# AJTO » K4
F VAN ,QJT8 3NE3 400 9.0 1 F eV BN ,JT6
N ~21~~w N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ ¢ J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 » AJB3 3NS3 600 Mean: 3NS4 630 9.0 1 [|# 24 » AT953 5HXW-2 300 Mean: 4SS4 420 50 1
v J62 2NS-1-100 220  3NS3 600 9.0 2 v?2 4SS4 420 230  4SN4 420 50 3
¢ T52 Dif: 700 NS:9 A 00 2 + Q86 Dif: -120 NS:2 5HXW-2 300 20 3
& Q62 IMP: 12 EW:8 2NS4 180 1.0 1 » K853 IMP: -3 EW:-5 A 00 2
» QT6 & K542 2NS3 150 20 1 ||a KJ a2 4HW-1 50 50 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
¢ A843 ¢ J97 1NS1 90 40 1||e2 ¢ AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~3~ 3 vAK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ3
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K 2NS2 120 Mean: 3NS4 430 9.0 2 ||# 26 # 65 2NN-1-100 Mean: 3NS3 600 11.0 1
v 876 3NS4430 60  3DS4 130 2.0 1 v AKQ42 3NN3 600 40  3NN3 600 11.0 1
¢ JT53 Dif: -310 NS:2 2NS2 120 20 1 * K2 Dif: -700 NS:-4 2HN2 110 20 1
& KQ853 IMP: -7 EW:-9 A 00 2 » AK94 IMP: -12 EW:-11 A 00 2
& QJ962 & 875 3NS-1 50 3.0 4 ||e AK97 # J832 3NN-1 100 40 1
v5 v KJT432 3NS-2 100 40 1||e8 + v JT973 3HN-1 100 40 1
+ KQ94 *2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
e VAN ,AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q5
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3~
# 27 » K92 3CN4 130 Mean: 3NS4 430 40 1 ||# 28 » T98762 2SN2 110 Mean: 4DXE-3 500 9.0 1
v 96 3NS3 400 300 3NS3 400 30 6 v K98 5CXS-1-200 80  3HW-3 150 2.0 1
¢ Q7 Dif: -270 NS:-5 A 00 2 T Dif: 310 NS:1 2SN3 140 20 1
& KT5432 IMP: -7 EW:-3 3CN4 130 50 2 » AB2 IMP: 7 EW:7 2SN2 110 1.0 3
# 765 s AT8 3NN-1 50 80 1 (|aA3 » KQJ4 2NS2 120 1.0 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 d VAN 45 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4~~22 ¢ AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ a&KT765
~1~~~ W ~1~~-~
# 29 » T542 3NE5 -660 Mean: 3NW5 660 40 5 ||# 30 » AKT 3NN6 490 Mean: 6CS6 920 9.0 2
v AJ9764 3NW5 -660 -790  3NW4 630 40 1 v AK 3NN6490 500 A 00 2
02 Dif: 0 NS:4 3NE5 660 4.0 2 + AK75 Dif: 0 NS:0 3NN6 490 0.0 5
& J5 IMP: 0 EW:-4 A 00 2 & J974 IMP: 0 EW:0 3NN4 430 20 1
» A6 N s J97 6CE6 1370 -11.0 2 || QJ95432 # 87 5DS5 400 3.0 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 o T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ ¢T5 N 76~~6 »T754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 486 E ~~~~~ & AKT32
63~~4 W o~~~ ~~
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#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
4 INS: B{—5% B FEEAC) 0 2 NS: BREE =185 (F0) -24 VP:| 15.97 : 4.03 | Total VP: 91.88 Rank:
EW: £2881F £ 7 H(GH0) 25 EW: 85 AR Z(BAC) 0 IMP:| 37 17 6
__ . I
# 21 & 765 3NE3 400 Mean: 3NE-2 100 3.0 1 [[|# 22 a 973 6NW6 1440 Mean: 4SW7 710 10.0 1
v KQT763 2HN-1100 o© 3CXE-1 100 3.0 1 v 8543 6SW6 1430 -1140 4HE6 680 10.0 1
* AJT4 Dif: 300 NS:-3 2HN2 110 3.0 2 ¢ 732 Dif: 10 NS:-7  3NW6 690 10.0 2
ry IMP: 7 EW:9 3NE-1 50 20 2 & 876 IMP: 0 EW:7 A 00 2
#» 932 & AK4 1NE-1 50 20 1 ||s AQ842 # K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2(|e9 —_— v KQJT2 6NW6 1440 7.0 1
¢ Q83 | + K6 2HN-1 100 3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 150 4.0 1 ||# AJTO » K4
F VAN ,QJT8 3NE3 400 9.0 1 F eV BN ,JT6
N ~21~~w N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ ¢ J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 » AJB3 1NS1-90 Mean: 3NS4 630 9.0 1 [|# 24 » AT953 5SXN-1 100 Mean: 4SS4 420 50 1
v J62 2NS3 -150 220  3NS3 600 9.0 2 v?2 4SN4 -420 230  4SN4 420 50 3
¢ T52 Dif: 60 NS:-2 A 00 2 + Q86 Dif: 520 NS:5 5HXW-2 300 20 3
& Q62 IMP: 2 EW:4 2NS4 180 1.0 1 » K853 IMP: 11 EW:8 A 00 2
» QT6 & K542 2NS3 150 20 1 ||a KJ a2 4HW-1 50 50 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
¢ A843 ¢ J97 1NS1 90 40 1||e2 ¢ AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~3~ 3 vAK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ3
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K 3NS-150 Mean: 3NS4 430 9.0 2 ||# 26 # 65 3HN-1 100 Mean: 3NS3 600 11.0 1
v 876 3DS4-130 60  3DS4 130 2.0 1 v AKQ42 3HN-3300 40  3NN3 600 11.0 1
¢ JT53 Dif: 180 NS:2 2NS2 120 20 1 * K2 Dif: -200 NS:-8 2HN2 110 20 1
£ KQ853 IMP:5 EwW:3 A 00 2 & AK94 IMP: -5 EW:4 A 00 2
& QJ962 & 875 3NS-1 50 3.0 4 ||e AK97 # J832 3NN-1 100 40 1
v5 v KJT432 3NS-2 100 40 1||e8 + v JT973 3HN-1 100 40 1
+ KQ94 ¢ 2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
% ¢ VAN 4AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q5
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3~
# 27 » K92 3NS4 -430 Mean: 3NS4 430 40 1 ||# 28 » T98762 3NS-2200 Mean: 4DXE-3 500 9.0 1
v 96 3NS3 -400 300 3NS3 400 30 6 v K98 4DXE-3 -500 80  3HW-3 150 2.0 1
Q7 Dif: -30 NS:3 A 00 2 T Dif: 700 NS:9 2SN3 140 20 1
& KT5432 IMP: -1 EW:-4 3CN4 130 50 2 » AB2 IMP: 12 EW:7 2SN2 110 1.0 3
# 765 s AT8 3NN-1 50 80 1 [|a A3 » KQJ4 2NS2 120 1.0 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 BdOVAN A5 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4 ~~22 « AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ a&KT765
~1~~~ W ~1~~-~
# 29 » T542 3NW5 660 Mean: 3NW5 660 40 5 ||# 30 » AKT 6CS6 -920 Mean: 6CS6 920 9.0 2
v AJ9764 3NW5 660 -790  3NW4 630 40 1 v AK 5DS5-400 500 A 00 2
02 Dif: 0 NS:4 3NE5 660 4.0 2 + AK75 Dif: -520 NS:-3 3NN6 490 0.0 5
& J5 IMP: 0 EW:-4 A 00 2 a J974 IMP: -11 EW:-9 3NN4 430 20 1
» A6 N s J97 6CE6 1370 -11.0 2 || QJ95432 # 87 5DS5 400 3.0 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 o T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ ¢T5 N 76~~6 »T754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 486 E ~~~~~ & AKT32
63~~4 W o~~~ ~~
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AVA
#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
5 INS: BEeS TTRINEEO) 24 7 NS: #iEZE 23, (BAC) -12 VP:| 18.30 : 1.70 Total VP: 66.88 Rank:
EW BASIEE g]zi:}j(z;(BﬁC) 12 EW: RER #215E(F0) -2 IMP:| 42 9 9
I
# 21 Iy 765 3NE 150 Mean: 3NE-2 100 3.0 1 [[|# 22 a 973 3NW6 -690 Mean: 4SW7 710 10.0 1
v KQT763 3CXE-1100 o0 3CXE-1 100 3.0 1 v 8543 6NE6 -1440 -1140 4HE6 680 10.0 1
* AJT4 Dif: -50 NS:2 2HN2 110 3.0 2 ¢ 732 Dif: 750 NS:10 3NW6 690 10.0 2
ry IMP: -2 EW:-3 3NE-1 50 20 2 » 876 IMP: 13 EW:7 A 00 2
#» 932 & AK4 1NE-1 50 20 1 ||a AQ842 » K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2(|e9 —_— v KQJT2 6NW6 1440 7.0 1
¢ Q83 | + K6 2HN-1 100 3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 150 4.0 1 ||& AJTO & K4
F VAN ,QJT8 3NE3 400 9.0 1 F eV BN ,JT6
N ~21~~w N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ ¢ J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 » AJ83 2NS4 180 Mean: 3NS4 630 9.0 1 |[|# 24 a AT953 4SN4 420 Mean: 4SS4 420 50 1
v J62 2NS-1-100 220  3NS3 600 9.0 2 v?2 4SN4 420 230 4SN4 420 50 3
¢ T52 Dif: 280 NS:-1 A 00 2 + Q86 Dif: 0 NS:5 5HXW-2 300 20 3
& Q62 IMP: 7 EW:8 2NS4 180 1.0 1 » K853 IMP: 0 EW:5 A 00 2
a QT6 & K542 2NS3 150 20 1 ||& KJ a2 4HW-1 50 50 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
¢ A843 ¢ J97 1NS1 90 40 1 ||e2 ¢ AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
FOVAN 4,07 ¢ VAN 4, Q8764
N 3 ~3~ 3 vAK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K 3NS-1-50 Mean: 3NS4 430 9.0 2 ||# 26 # 65 3NS3 600 Mean: 3NS3 600 11.0 1
v 876 3NS-1-50 60  3DS4 130 2.0 1 v AKQ42 2HN2 110 40  3NN3 600 11.0 1
¢ JT53 Dif: 0 NS:-3 2NS2 120 20 1 * K2 Dif: 490 NS:11 2HN2 110 20 1
& KQ853 IMP: 0 EW:3 A 00 2 » AK94 IMP: 10 EW:-2 A 00 2
& QJ962 & 875 3NS-1 50 -3.0 4 ||e AKO7 # J832 3NN-1 100 40 1
v5 v KJT432 3NS-2 100 40 1 ||e8 + v JT973 3HN-1 100 40 1
+ KQ94 *2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
e VAN ,AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 w65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q5
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3~
# 27 » K92 3CN4 130 Mean: 3NS4 430 40 1 ||# 28 » T98762 2SN2 110 Mean: 4DXE-3 500 9.0 1
v 96 3NS3400 300 3NS3 400 30 6 v K98 2SN2110 80  3HW-3 150 2.0 1
¢ Q7 Dif: -270 NS:-5 A 00 2 T Dif: 0 NS:1  2SN3 140 20 1
& KT5432 IMP: -7 EW:-3 3CN4 130 50 2 » AB2 IMP: 0 EW:-1 2SN2 110 1.0 3
# 765 s AT8 3NN-1 50 80 1 (|aA3 » KQJ4 2NS2 120 1.0 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 d VAN 45 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4~~22 ¢ AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ aKT765
~1~~~ W ~1~~-~
# 29 » T542 3NW4 -630 Mean: 3NW5 660 40 5 ||# 30 » AKT 3NN6 490 Mean: 6CS6 920 9.0 2
v AJ9764 3NW5 -660 -790  3NW4 630 40 1 v AK 6NN-2 -100 500 A 00 2
02 Dif: 30 NS:4 3NE5 660 4.0 2 + AK75 Dif: 590 NS:0 3NN6 490 0.0 5
& J5 IMP: 1 EW:-4 A 00 2 & J974 IMP: 11 EW:12 3NN4 430 20 1
» A6 N s J97 6CE6 1370 -11.0 2 || QJ95432 # 87 5DS5 400 3.0 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 * T43
& AT94 & KQ732 & Q865
% ¢V AN 4,KQ83 B OVAN o6
N ~~~~~ ¢T5 N 76~~6 »T754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 486 E ~~~~~ & AKT32
63~~4 W o~~~ ~~




¥ l\ ——
9 1102 F < >2RpERFIRE ==> RY 9
AVA
#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
6 INS: 78 3 BiBnsR(EAC) 30 3 NS: #B{E32 FFEH(BAO) 22 VP:| 13.72 : 6.28 | Total VP: 113.44 Rank:
EW: HE&& FisGa0) -22 EW: ZZ#E75 8I3¥K(FC) -3 IMP:| 30 19 2
_ E __
# 21 & 765 2HN2 -110 Mean: 3NE-2 100 3.0 1 [[|# 22 a 973 4SW7 710 Mean: 4SW7 710 10.0 1
v KQT763 2HN2-110 © 3CXE-1 100 3.0 1 v 8543 4HEG6 680 -1140 4HE6 680 10.0 1
* AJT4 Dif: 0 NS:3 2HN2 110 3.0 2 ¢ 732 Dif: 30 NS:10 3NW6 690 10.0 2
ry IMP: 0 EW:-3 3NE-1 50 20 2 & 876 IMP: 1 EW:-10 A 00 2
#» 932 & AK4 1NE-1 50 20 1 ||s AQ842 » K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2(|e9 —_— v KQJT2 6NW6 1440 7.0 1
¢ Q83 | + K6 2HN-1 100 3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 150 4.0 1 ||# AJTO » K4
eV ABN ,QJT8 3NE3 400 9.0 1 F eV BN ,JT6
N ~21~~w N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ ¢ J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 » AJB3 3NS3 -600 Mean: 3NS4 630 9.0 1 [|# 24 » AT953 5HXW-2 -300 Mean: 4SS4 420 50 1
v J62 2NS-1100 220 3NS3 600 9.0 2 v?2 4SS4 -420 230  4SN4 420 50 3
¢ T52 Dif: -700 NsS:-8 A 00 2 + Q86 Dif: 120 NS:5 5HXW-2 300 20 3
& Q62 IMP: -12 EW:-9 2NS4 180 1.0 1 » K853 IMP: 3 EW:-2 A 00 2
» QT6 & K542 2NS3 150 20 1 ||a KJ a2 4HW-1 50 50 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
¢ A843 ¢ J97 1NS1 90 40 1||e2 ¢ AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~3~ 3 vAK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ3
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K 2NS2 -120 Mean: 3NS4 430 9.0 2 ||# 26 # 65 2NN-1 100 Mean: 3NS3 600 11.0 1
v 876 3NS4-430 60 3DS4 130 2.0 1 v AKQ42 3NN3 -600 40  3NN3 600 11.0 1
¢ JT53 Dif: 310 NS:9 2NS2 120 20 1 * K2 Dif: 700 NS:11 2HN2 110 20 1
& KQ853 IMP: 7 EW:-2 A 00 2 » AK94 IMP: 12 EW:4 A 00 2
& QJ962 & 875 3NS-1 50 3.0 4 ||e AK97 # J832 3NN-1 100 40 1
v5 v KJT432 3NS-2 100 40 1||e8 + v JT973 3HN-1 100 40 1
+ KQ94 ¢ 2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
% ¢ VAN 4AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q5
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3~
# 27 » K92 3CN4 -130 Mean: 3NS4 430 40 1 ||# 28 » T98762 2SN2 -110 Mean: 4DXE-3 500 9.0 1
v 96 3NS3 -400 300 3NS3 400 30 6 v K98 5CXS-1200 80  3HW-3 150 2.0 1
Q7 Dif: 270 NS:3 A 00 2 T Dif: -310 NS:-7 2SN3 140 20 1
& KT5432 IMP: 7 EW:5 3CN4 130 50 2 » AB2 IMP: -7 EW:-1 2SN2 110 1.0 3
# 765 s AT8 3NN-1 50 80 1 (|aA3 » KQJ4 2NS2 120 1.0 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 BdOVAN A5 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4 ~~22 « AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ a&KT765
~1~~~ W ~1~~-~
# 29 » T542 3NE5 660 Mean: 3NW5 -660 40 5 ||# 30 » AKT 3NNG6 -490 Mean: 6CS6 920 9.0 2
v AJ9764 3NW5 660 -790  3NW4 630 40 1 v AK 3NN6 -490 500 A 00 2
02 Dif: 0 NS:4 3NE5 660 4.0 2 + AK75 Dif: 0 NS:-0 3NN6 490 0.0 5
& J5 IMP: 0 EW:-4 A 00 2 a J974 IMP: 0 EW:-0 3NN4 430 20 1
#» A6 N s J97 6CE6 1370 -11.0 2 || QJ95432 # 87 5DS5 400 3.0 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 o T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ ¢T5 N 76~~6 »T754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 486 E ~~~~~ & AKT32
63~~4 W o~~~ ~~




¥ l\ ——
9 110 #< 3 >2RMpEEF LR E ==> RY 9
AVA
#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
7 NS: FfEE R (EAC) -12 5 NS: B JTZXKMN(BAO) 24 VP:| 1.70 18.30| Total VP: 59.39 Rank:
EW LREER %gﬁ(ﬁﬁm 24 EW: EEBIRE Bk (BAC) 12 IMP:| 9 42 10
I
# 21 Iy 765 3NE 1-50 Mean: 3NE-2 100 3.0 1 [[|# 22 a 973 3NW6 690 Mean: 4SW7 710 10.0 1
v KQT763 3CXE-1-100 1] 3CXE-1 100 30 1 v 8543 6NEG6 1440 -1140 4HE6 -680 10.0 1
* AJT4 Dif: 50 NS:3 2HN2 110 3.0 2 ¢ 732 Dif: -750 NS:-7 3NW6 690 10.0 2
ry IMP: 2 EW:-2 3NE-1 50 20 2 » 876 IMP: -13 EW:-10 A 00 2
#» 932 & AK4 1NE-1 50 20 1 ||s AQ842 s K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2(|e9 —_— v KQJT2 6NW6 1440 7.0 1
¢ Q83 | + K6 2HN-1 100 3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 150 4.0 1 ||& AJTO & K4
F VAN ,QJT8 3NE3 400 9.0 1 F eV BN ,JT6
N ~21~~w N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ ¢ J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 » AJ83 2NS4 -180 Mean: 3NS4 630 9.0 1 |[|# 24 a AT953 4SN4 -420 Mean: 4SS4 420 50 1
v J62 2NS-1100 220  3NS3 600 9.0 2 v?2 4SN4 -420 230  4SN4 420 50 3
¢ T52 Dif: -280 NsS:-8 A 00 2 + Q86 Dif: 0 NS:5 5HXW-2 300 20 3
& Q62 IMP: -7 EW:1 2NS4 180 1.0 1 » K853 IMP: 0 EW:5 A 00 2
a QT6 & K542 2NS3 150 20 1 ||aKJ a2 4HW-1 50 50 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
¢ A843 ¢ J97 1NS1 90 40 1||e2 ¢ AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~3~ 3 vAK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K 3NS-150 Mean: 3NS4 430 9.0 2 ||# 26 # 65 3NS3 -600 Mean: 3NS3 600 11.0 1
v 876 3NS-150 60  3DS4 130 2.0 1 v AKQ42 2HN2-110 40  3NN3 600 11.0 1
¢ JT53 Dif: 0 NS:-3 2NS2 120 20 1 * K2 Dif: -490 NS:2 2HN2 110 20 1
& KQ853 IMP: 0 EW:3 A 00 2 » AK94 IMP: -10 EW:-11 A 00 2
& QJ962 & 875 3NS-1 50 -3.0 4 ||e AKO7 # J832 3NN-1 100 40 1
v5 v KJT432 3NS-2 100 40 1||e8 + v JT973 3HN-1 100 40 1
+ KQ94 *2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
e VAN ,AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 w65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q5
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3~
# 27 » K92 3CN4 -130 Mean: 3NS4 430 40 1 ||# 28 » T98762 2SN2 -110 Mean: 4DXE-3 500 9.0 1
v 96 3NS3 -400 300 3NS3 400 30 6 v K98 2SN2-110 80  3HW-3 150 2.0 1
¢ Q7 Dif: 270 NS:3 A 00 2 T Dif: 0 NS:1  2SN3 140 20 1
& KT5432 IMP: 7 EW:5 3CN4 130 50 2 » AB2 IMP: 0 EW:-1 2SN2 110 1.0 3
# 765 s AT8 3NN-1 50 8.0 1 (|a A3 » KQJ4 2NS2 120 1.0 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 d VAN 45 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4~~22 ¢ AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ aKT765
~1~~~ W ~1~~-~
# 29 » T542 3NW4 630 Mean: 3NW5 660 40 5 ||# 30 » AKT 3NNG6 -490 Mean: 6CS6 920 9.0 2
v AJ9764 3NW5 660 -790 3NW4 630 40 1 v AK 6NN-2 100 500 A 00 2
02 Dif: -30 NS:4 3NE5 660 4.0 2 + AK75 Dif: -590 NS:-12 3NN6 490 0.0 5
& J5 IMP: -1 EW:-44 A 00 2 & J974 IMP: -11 EW:-0 3NN4 430 20 1
» A6 N s J97 6CE6 1370 -11.0 2 || QJ95432 # 87 5DS5 400 3.0 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 * T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ ¢T5 N 76~~6 »T754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 486 E ~~~~~ & AKT32
63~~4 W o~~~ ~~
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#1: 3 BEAR(113.63) #2: 6 T 4-45(113.44) #3: 9 LL¥E{E(108.63)

tiandgq
ril e

NN Z

& AG

v KQ82

¢ QJ3

& AT94
*eVaAN

INS: ¥FZ 258522 (BAC) -29 1 NS: #5555 SiZBE(BRO) - 6| VP:| 3.61 16.39| Total VP: 83.43 Rank:
EW Pz 5‘&{_1"“(]350) 6 EW: &30& SEUR(BAC) 2 IMP:| 21 43 8
—
[ 765 3NE-2 -100 Mean: 3NE-2 100 3.0 1 # 22 a 973 6NEG6 1440 Mean: 4SW7 -710 100 1
v KQT763 1NE3 150 0 3CXE-1 100 3.0 1 v 8543 6NEG6 1440 -1140 4HE6 -680 100 1
¢ AJT4 Dif: -250 NS:-4 2HN2 110 3.0 2 ¢ 732 Dif: 0 NS:-7 3NW6 690 100 2
» IMP: -6 EW:-3 3NE-1 50 2.0 2 » 876 IMP: 0 EW:7 A 0.0 2
# AK4 1NE-1 50 2.0 1 & AQ842 & K5 6SW6 -1430 -7.0 1
v AJ5 A 0.0 2 v 9 — v KQJT2 6NW6 -1440 -7.0 1
| * K6 2HN-1 400 3.0 1||e T6 + AKQ9 6NES6 1440 7.0 4
& K9763 1NE3 150 4.0 1 ||& AJTO a K4
» QJT8 3NE3 -400 9.0 1 P OeVABN 4, JT6
v N ~~~~~ v A76
¢ 9752 S ~~~~~ ¢ J854
& QJ52 E 6~~66 Q52
W 6~~66
» AJB3 1NS2 -120 Mean: 3NS4 630 9.0 1 |[|# 24 a AT953 3HW3 140 Mean: 4SSs4 420 50 1
v J62 3NS4 -630 220 3NS3 600 9.0 2 v?2 5HXW-2 -300 230 4SN4 420 5.0 3
¢ T52 Dif: 510 NS:9 A 0.0 2 ¢ Q86 Dif: 440 NS:2 5HXW-2 300 2.0 3
& Q62 IMP: 11 EW:3 2NS4 180 1.0 1 » K853 IMP: 10 EwW:9 A 0.0 2
& K542 2NS3 150 20 1 s KJ a2 4HW-1 50 5.0 1
+ v Q7 1NS2 120 3.0 2 v AKO98754 v Q 5SXN-1 -100 8.0 1
¢ J97 1NS1 920 4.0 1 2 ¢ AT9754 3HW3 -140 9.0 1
S a AT54 2NS-1 100 8.0 2 |[|a& JT9 » Q7642
s 97 e VAN 4, Q8764
v AK85 N ~~~31 «JT63
+ KQ6 S ~~~31 ¢KJ
& KJ87 E 213~~ aA
W 213~~
» K 3NS-2 100 Mean: 3NS4 430 9.0 2 [|# 26 # 65 3NN-1 100 Mean: 3NS3 600 11.0 1
v 876 3NS-3 150 60 3DS4 130 2.0 1 v AKQ42 2HN-1 100 40 3NN3 600 11.0 1
¢ JT53 Dif: -50 NS:-5 2NS2 120 2.0 1 ¢ K2 Dif: 0 NS:-4 2HN2 110 2.0 1
£ KQ853 IMP: -2 EW:4 A 00 2 & AK94 IMP:0 EW:4 A 00 2
# 875 3NS-1 -50 -3.0 4 & AK97 # J3832 3NN-1 -100 4.0 1
v KJT432 3NS-2 -100 -4.0 1 v 8 + v JT973 3HN-1 -100 4.0 1
¢ 2 3NS-3 -150 5.0 1 ¢ AT986 ¢ J73 2NN-1 -100 4.0 1
& T94 & Q63 &7 2HN-1 -100 40 3
» AT43 VAN ,QT4 3HN-3 -300 8.0 1
v AQ9 N 3~1~3 w65
« A876 S 3~1~3 Q54
& J6 E ~2~3~ aJT852
W ~2~3~
» K92 3NS3 -400 Mean: 3NS4 430 4.0 1 # 28 » T98762 2SN3 -140 Mean: 4DXE-3 500 9.0 1
v 96 3NN-1 50 300 3NS3 400 3.0 6 v K98 1NW-1-50 80 3HW-3 150 2.0 1
Q7 Dif: -450 NS:-8 A 0.0 2 o T Dif: -90 NS:-1  2SN3 140 2.0 1
& KT5432 IMP: -10 EW:-3 3CN4 130 5.0 2 » A82 IMP: -3 EW:-2 2SN2 110 1.0 3
# AT8 3NN-1 -50 -8.0 1 & A3 & KQJ4 2NS2 120 1.0 1
v KQ75 v 75432 I v JT A 00 2
+ 9632 * K2 + Q87654 1NW-1 5 1.0 1
& A8 & QJ43 &9 5CXS-1 -200 7.0 1
» QJ43 L X3 SN a5 3NS-2 -200 7.0 1
v AJ42 N 4~~22 ¢ AQ6
¢ A5 S 4~~22 ¢AJ93
& QJ7 E ~1~~~ aKT765
W ~1~~~
a T542 3NW5 660 Mean: 3NW5 -660 4.0 5 |[|# 30 & AKT 6CS6 -920 Mean: 6CS6 920 9.0 2
v AJ9764 6CE6 1370 -790 3NW4 -630 4.0 1 v AK 3NN6 -490 500 A 0.0 2
*2 Dif: -710 NS:-11 3NE5 -660 4.0 2 ¢ AK75 Dif: -430 NS:-0 3NN6 490 0.0 5
& J5 IMP: -12 EW:-4 A 0.0 2 » J974 IMP: -10 EW:-9 3NN4 430 20 1
[\ & J97 6CE6 -1370 -11.0 2 & QJ95432 s 87 5DS5 400 3.0 1
v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ + AK84 + Q86 ¢ T43
& KQ732 » Q865
» KQ83 oo VAN 46
v T5 N 76~~6 o T754
¢ T9765 S 76 ~~6 ¢J92
& 86 E ~~~~~ & AKT32
W ~~~~~




¥ l\ ——
9 1102 F < >2RpERFIRE ==> RY 9
AVA
#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
9 INS: Ef&E H5HFEI0) 5 1 0 NS: EAtH AL ?ﬁf‘i(EﬁC) 3 VP:[ 10.77 : 9.23 | Total VP: 108.63 Rank:
EW TENERD g]z{;fg}a(sﬁc) -3 EW: RiF5 #185E(F0) -5 IMP:| 28 26 3
I
# 21 Iy 765 1NE 150 Mean: 3NE-2 100 3.0 1 [[|# 22 a 973 6NE6 -1440 Mean: 4SW7 710 10.0 1
v KQT763 3NE-150 0 3CXE-1 100 3.0 1 v 8543 3NW6 -690 -1140 4HE6 680 10.0 1
* AJT4 Dif: 0 NS:2 2HN2 110 3.0 2 ¢ 732 Dif: -750 NS:-7 3NW6 690 10.0 2
ry IMP: 0 EW:-2 3NE-1 50 20 2 » 876 IMP: -13 EW:-10 A 00 2
#» 932 & AK4 1NE-1 50 20 1 ||s AQ842 » K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2(|e9 —_— v KQJT2 6NW6 1440 7.0 1
¢ Q83 | + K6 2HN-1 100 3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 150 4.0 1 ||# AJTO » K4
F VAN ,QJT8 3NE3 400 9.0 1 F eV BN ,JT6
N ~21~~w N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ ¢ J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 » AJB3 1NS2 120 Mean: 3NS4 630 9.0 1 [|# 24 » AT953 5HXW-2 300 Mean: 4SS4 420 50 1
v J62 3NS3 600 220 3NS3 600 9.0 2 v?2 4HW-150 230 4SN4 420 50 3
¢ T52 Dif: -480 NS:-3 A 00 2 + Q86 Dif: 250 NS:2 5HXW-2 300 20 3
& Q62 IMP: -10 EW:-9 2NS4 180 1.0 1 » K853 IMP: 6 EW:5 A 00 2
» QT6 & K542 2NS3 150 20 1 ||aKJ a2 4HW-1 50 50 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
¢ A843 ¢ J97 1NS1 90 40 1||e2 ¢ AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~3~ 3 vAK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ3
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K 3NS4 430 Mean: 3NS4 430 9.0 2 ||# 26 # 65 2HN-1-100 Mean: 3NS3 600 11.0 1
v 876 3NS-1-50 60  3DS4 130 2.0 1 v AKQ42 2HN-1-100 40  3NN3 600 11.0 1
¢ JT53 Dif: 480 NS:9 2NS2 120 20 1 * K2 Dif: 0 NS:-4 2HN2 110 20 1
£ KQ853 IMP: 10 EwW:3 A 00 2 & AK94 IMP:0 EW:4 A 00 2
& QJ962 & 875 3NS-1 50 3.0 4 ||e AK97 # J832 3NN-1 100 40 1
v5 v KJT432 3NS-2 100 40 1||e8 _|_ v JT973 3HN-1 100 40 1
+ KQ94 *2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
e VAN ,AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q5
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3~
# 27 » K92 3NS3 400 Mean: 3NS4 430 40 1 ||# 28 » T98762 2NS2 120 Mean: 4DXE-3 500 9.0 1
v 96 3NS3 400 300 3NS3 400 30 6 v K98 3HW-3150 80  3HW-3 150 2.0 1
¢ Q7 Dif: 0 NS:3 A 00 2 T Dif: -30 NS:1 2SN3 140 20 1
& KT5432 IMP: 0 EW:-3 3CN4 130 50 2 » AB2 IMP: -1 EW:-2 2SN2 110 1.0 3
# 765 s AT8 3NN-1 50 80 1 (|aA3 » KQJ4 2NS2 120 1.0 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 d VAN 45 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4~~22 ¢ AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ a&KT765
~1~~~ W ~1~~-~
# 29 » T542 3NE5 -660 Mean: 3NW5 660 40 5 ||# 30 » AKT 3NN4 430 Mean: 6CS6 920 9.0 2
v AJ9764 6CE6 -1370 -790  3NW4 630 40 1 v AK 3NN6490 500 A 00 2
02 Dif: 710 NS:4 3NE5 660 4.0 2 + AK75 Dif: -60 NS:-2 3NN6 490 0.0 5
& J5 IMP: 12 EW:11 A 00 2 & J974 IMP: -2 EW:0 3NN4 430 20 1
» A6 N s J97 6CE6 1370 -11.0 2 || QJ95432 # 87 5DS5 400 3.0 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 o T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ ¢T5 N 76~~6 »T754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 486 E ~~~~~ & AKT32
63~~4 W o~~~ ~~




¥ l\ ——
9 1102 F < >2RpERFIRE ==> RY 9
AVA
#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
1 O INS: BRIEA BSZREAC) 3 9 NS: Ei22 S4%F(B0) 5 VP:| 9.23 10.77 | Total VP: 92.22 Rank:
EW BE= ﬁmgg(ﬁ,ﬁo) -5 EW: #IIER] E1F4%(RAC) -3 IMP:| 26 28 5
I
# 21 Iy 765 1NE 1-50 Mean: 3NE-2 100 3.0 1 [[|# 22 a 973 6NE6 1440 Mean: 4SW7 710 10.0 1
v KQT763 3NE-1-50 0 3CXE-1 100 3.0 1 v 8543 3NW6 690 -1140 4HE6 680 10.0 1
* AJT4 Dif: 0 NS:2 2HN2 110 3.0 2 ¢ 732 Dif: 750 NS:10 3NW6 690 10.0 2
ry IMP: 0 EW:-2 3NE-1 50 20 2 » 876 IMP: 13 EW:7 A 00 2
#» 932 & AK4 1NE-1 50 20 1 ||s AQ842 » K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2(|e9 —_— v KQJT2 6NW6 1440 7.0 1
¢ Q83 | + K6 2HN-1 100 3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 150 4.0 1 ||# AJTO » K4
F VAN ,QJT8 3NE3 400 9.0 1 F eV BN ,JT6
N ~21~~w N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ ¢ J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 » AJB3 1NS2 -120 Mean: 3NS4 630 9.0 1 [|# 24 » AT953 5HXW-2 -300 Mean: 4SS4 420 50 1
v J62 3NS3 -600 220 3NS3 600 9.0 2 v?2 4HW-1-50 230  4SN4 420 50 3
¢ T52 Dif: 480 NS:9 A 00 2 + Q86 Dif: 250 NS:-5 5HXW-2 300 20 3
& Q62 IMP: 10 EW:3 2NS4 180 1.0 1 » K853 IMP: -6 EW:-2 A 00 2
» QT6 & K542 2NS3 150 20 1 ||aKJ a2 4HW-1 50 50 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
¢ A843 ¢ J97 1NS1 90 40 1||e2 ¢ AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~3~ 3 vAK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ3
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K 3NS4 -430 Mean: 3NS4 430 9.0 2 ||# 26 # 65 2HN-1 100 Mean: 3NS3 600 11.0 1
v 876 3NS-150 60  3DS4 130 2.0 1 v AKQ42 2HN-1100 40  3NN3 600 11.0 1
¢ JT53 Dif: -480 NS:-3 2NS2 120 20 1 * K2 Dif: 0 NS:-4 2HN2 110 20 1
£ KQ853 IMP: -10 EwW:-9 A 00 2 & AK94 IMP:0 EW:4 A 00 2
& QJ962 & 875 3NS-1 50 3.0 4 ||e AK97 # J832 3NN-1 100 40 1
v5 v KJT432 3NS-2 100 40 1||e8 _|_ v JT973 3HN-1 100 40 1
+ KQ94 *2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
e VAN ,AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q5
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3~
# 27 » K92 3NS3 -400 Mean: 3NS4 430 40 1 ||# 28 » T98762 2NS2 -120 Mean: 4DXE-3 500 9.0 1
v 96 3NS3 -400 300 3NS3 400 30 6 v K98 3HW-3-150 80  3HW-3 150 2.0 1
¢ Q7 Dif: 0 NS:3 A 00 2 T Dif: 30 NS:2 2SN3 140 20 1
& KT5432 IMP: 0 EW:-3 3CN4 130 50 2 » AB2 IMP: 1 EW:-1 2SN2 110 1.0 3
# 765 s AT8 3NN-1 50 80 1 (|aA3 » KQJ4 2NS2 120 1.0 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 d VAN 45 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4~~22 ¢ AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ a&KT765
~1~~~ W ~1~~-~
# 29 » T542 3NE5 660 Mean: 3NW5 660 40 5 ||# 30 » AKT 3NN4 -430 Mean: 6CS6 920 9.0 2
v AJ9764 6CE6 1370 -790 3NW4 630 40 1 v AK 3NN6 -490 500 A 00 2
02 Dif: -710 NS:-11  3NE5 660 4.0 2 + AK75 Dif: 60 NS:-0 3NN6 490 0.0 5
& J5 IMP: -12 EW:-4 A 00 2 & J974 IMP: 2 EW:2 3NN4 430 20 1
» A6 N s J97 6CE6 1370 -11.0 2 || QJ95432 # 87 5DS5 400 3.0 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 o T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ ¢T5 N 76~~6 »T754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 486 E ~~~~~ & AKT32
63~~4 W o~~~ ~~
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AVA
#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
1 1 INS: (BHO0) 0 12 NS: (FiC) 0 VP:| 0.00 0.00 Total VP: 0.00 Rank:
EW: (BC)0 EW: (F0)0 IMP:l 0 : O 11
_ E
# 21 s 765 Mean: 3NE-2 100 3.0 1 |[|# 22 a 973 Mean: 4SW7 710 100 1
v KQT763 0 3CXE-1 100 30 1 v 8543 1140  4HE6 680 100 1
» AJT4 Dif: NS:0 2HN2 10 30 2 ¢ 732 Dif: NS:0 3NW6 690 100 2
& IMP: EW:0 3NE-1 50 20 2 a 876 IMP: EW:0 A 0.0 2
# 932 » AK4 1NE-1 50 20 1||a AQ842 #» K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2||w9 —_— v KQJT2 6NW6 1440 7.0 1
+ Q83 | + K6 2HN-1 100 3.0 1||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 4150  -4.0 1 ||a AJTO » K4
®+VAN ,QJT8 3NE3 400 9.0 1 P eVAN o JT6
N ~21~~9 N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ + J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 & AJ8B3 Mean: 3NS4 630 9.0 1 ||# 24 & AT953 Mean: 4SS4 420 50 1
v J62 220  3NS3 600 9.0 2 v?2 230  4SN4 420 50 3
¢ T52 Dif: NS:0 A 00 2 + Q86 Dif: NS:0 5HXW-2 300 20 3
& Q62 IMP: EW:0 2NS4 180 1.0 1 » K853 IMP: EW:0 A 0.0 2
~ QT6 K542 2NS3 150 20 1 ||aKJ a2 4HW-1 50 5.0 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
* AB43 * J97 1NS1 0 40 1||e2 * AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~ 3~ 3 v AK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ3
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K Mean: 3NS4 430 9.0 2 ||# 26 » 65 Mean: 3NS3 600 11.0 1
v 876 60  3DS4 130 20 1 v AKQ42 40  3NN3 600 11.0 1
¢ JT53 Dif: NS:0 2NS2 1200 20 1 K2 Dif: NS:0 2HN2 10 20 1
£ KQ853 IMP: EwW:0 A 00 2 & AK94 IMP: EW:0 A 00 2
& QJ962 a 875 3NS-1 50 3.0 4 ||a AK97 » J832 3NN-1 100 -40 1
v5 v KJT432 3NS-2 100 40 1||e8 + v JT973 3HN-1 100 -40 1
+ KQ94 *2 3NS-3 150 -5.0 1 ||e AT986 ¢ J73 2NN-1 100 -40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
e VAN ,AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q54
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3-~
# 27 » K92 Mean: 3NS4 430 40 1 ||# 28 » T98762 Mean: 4DXE-3 500 9.0 1
v 96 300 3NS3 400 30 6 v K98 80  3HW-3 150 20 1
¢ Q7 Dif: NsS:0 A 00 2 o T Dif: NS:0 2SN3 140 20 1
& KT5432 IMP: EW:0 3CN4 130 50 2 a A82 IMP: EW:0 2SN2 10 10 3
# 765 s AT8 3NN-1 50 80 1 ||a A3 » KQJ4 2NS2 120 10 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 d VAN 45 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4 ~~22 « AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ &KT765
~1~~~ W ~1~~~
# 29 & T542 Mean: 3NW5 -660 40 5 ||# 30 & AKT Mean: 6CS6 920 9.0 2
v AJO764 790  3NW4 630 40 1 v AK 500 A 0.0 2
2 Dif: NS:0 3NE5 660 40 2 + AK75 Dif: NS:0 3NN6 40 00 5
& J5 IMP: EW:0 A 00 2 a J974 IMP: EW:0 3NN4 430 20 1
# A6 N » J97 6CE6 41370 -11.0 2 ||a QJ95432 » 87 5DS5 400 30 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 * T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ vT5 N 76~~6 vT754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 &86 E ~~~~~ & AKT32
63~~4 W o~~~~~
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9 10£E<F 2 ABERF2P e == RY 9
AVA
#1: 3 BER(113.63) #2: 6 51 4£43(113.44) #3: 9 LLI3G/E(108.63)
1 2 INS: (BHC) 0 11 NS: (FA0)0 VP:| 0.00 0.00 Total VP: 0.00 Rank:
EW: (B0) 0 EW: (EiC)0 IMP:l 0 : O 11
_ E
# 21 s 765 A Mean: 3NE-2 100 3.0 1 |[|# 22 a 973 A Mean: 4SW7 710 100 1
v KQT763 A o 3CXE-1 100 30 1 v 8543 A -1140 4HE6 680 100 1
» AJT4 Dif: 0 NS:-0 2HN2 10 30 2 ¢ 732 Dif: 0 NS:-0 3NW6 690 100 2
& IMP: 0 EW:-0 3NE-1 50 20 2 a 876 IMP: 0 EW:0 A 0.0 2
# 932 » AK4 1NE-1 50 20 1||a AQ842 #» K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2||w9 —_— v KQJT2 6NW6 1440 7.0 1
+ Q83 | + K6 2HN-1 100 3.0 1||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 4150  -4.0 1 ||a AJTO » K4
®+VAN ,QJT8 3NE3 400 9.0 1 P eVAN o JT6
N ~21~~9 N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ + J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 & AJ8B3 A Mean: 3NS4 630 9.0 1 ||# 24 & AT953 A Mean: 4SS4 420 50 1
v J62 A 220 3NS3 600 9.0 2 v?2 A 230 4SN4 420 50 3
¢ T52 Dif: 0 NS:-0 A 00 2 + Q86 Dif: 0 NS:-0 5HXW-2 300 20 3
& Q62 IMP: 0 EW:-0 2NS4 180 1.0 1 » K853 IMP: 0 EW:-0 A 0.0 2
~ QT6 K542 2NS3 150 20 1 ||aKJ a2 4HW-1 50 5.0 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
* AB43 * J97 1NS1 0 40 1||e2 * AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~ 3~ 3 v AK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ3
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K A Mean: 3NS4 430 9.0 2 ||# 26 » 65 A Mean: 3NS3 600 11.0 1
v 876 A 60 3DS4 130 20 1 v AKQ42 A 40  3NN3 600 11.0 1
¢ JT53 Dif: 0 NS:-0 2NS2 1200 20 1 K2 Dif: 0 NS:-0 2HN2 10 20 1
£ KQ853 IMP:0 EwW:-0 A 00 2 & AK94 IMP:0 EW:-0 A 00 2
& QJ962 a 875 3NS-1 50 3.0 4 ||a AK97 » J832 3NN-1 100 -40 1
v5 v KJT432 3NS-2 100 40 1||e8 + v JT973 3HN-1 100 -40 1
+ KQ94 *2 3NS-3 150 -5.0 1 ||e AT986 ¢ J73 2NN-1 100 -40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
e VAN ,AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q54
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3-~
# 27 » K92 A Mean: 3NS4 430 40 1 ||# 28 » T98762 A Mean: 4DXE-3 500 9.0 1
v 96 A 300 3NS3 400 30 6 v K98 A 80  3HW-3 150 20 1
¢ Q7 Dif: 0 NS:-0 A 00 2 o T Dif: 0 NS:-0 2SN3 140 20 1
& KT5432 IMP: 0 EW:-0 3CN4 130 50 2 a A82 IMP: 0 EW:-0 2SN2 10 10 3
# 765 s AT8 3NN-1 50 80 1 ||a A3 » KQJ4 2NS2 120 10 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 d VAN 45 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4 ~~22 « AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ &KT765
~1~~~ W ~1~~~
# 29 & T542 A Mean: 3NW5 -660 40 5 ||# 30 & AKT A Mean: 6CS6 920 9.0 2
v AJ9764 A 790 3NW4 630 40 1 v AK A 50 A 0.0 2
2 Dif: 0 NS:-0 3NE5 660 40 2 + AK75 Dif: 0 NS:-0 3NN6 40 00 5
& J5 IMP: 0 EW:0 A 00 2 a J974 IMP: 0 EW:-0 3NN4 430 20 1
# A6 N » J97 6CE6 41370 -11.0 2 ||a QJ95432 » 87 5DS5 400 30 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 * T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ vT5 N 76~~6 vT754
S ~~~~~ + T9765 S 76~~6 ¢J92
E 64~~5 &86 E ~~~~~ & AKT32
63~~4 W o~~~~~




